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NEW QUESTION 1
Which of the following DevOps options is used to integrate with cloud solutions?

A. Provisioning
B. API
C. SOA
D. Automation

Answer: B

NEW QUESTION 2
A web application was deployed, and files are available globally to improve user experience. Which of the following technologies is being used?

A. SAN
B. CDN
C. VDI
D. API

Answer: B

NEW QUESTION 3
Volume, variety, velocity, and veracity are the four characteristics of:

A. machine learning.
B. Big Data.
C. microservice design.
D. blockchain.
E. object storage.

Answer: B

NEW QUESTION 4
A cloud administrator for an ISP identified a vulnerability in the software that controls all the firewall rules for a geographic area. To ensure the software upgrade is
properly tested, approved, and applied, which of the following processes should the administrator follow?

A. Configuration management
B. Incident management
C. Resource management
D. Change management

Answer: A

NEW QUESTION 5
Which of the following is a cloud service model that organizations use when their third-party ERP tool is provided as a complete service?

A. Public cloud
B. SaaS
C. Hybrid cloud
D. IaaS

Answer: B

NEW QUESTION 6
A cloud systems administrator needs to migrate several corporate applications to a public cloud provider and decommission the internal hosting environment. This
migration must be completed by the end of the month. Because these applications are internally developed to meet specific business accounting needs, the
administrator cannot use an alternative application.
Which of the following BEST describes the approach the administrator should use?

A. Hybrid deployment
B. Phased migration
C. Lift and shift
D. Rip and replace

Answer: C

NEW QUESTION 7
A company deploys a data management capability that reduces RPO. Which of the following BEST describes the capability needed?

A. Locality
B. Replication
C. Portability
D. Archiving

Answer: D
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NEW QUESTION 8
A company wants to process a batch job in a faster, cost-effective manner. Which of the following is the BEST solution?

A. Implement right-sizing.
B. Increase CPU usage.
C. Utilize spot instances.
D. Add storage.

Answer: C

NEW QUESTION 9
Which of the following is an example of outsourcing administration in the
context of the cloud?

A. Managed services
B. Audit by a third party
C. Community support
D. Premium support

Answer: A

NEW QUESTION 10
A vendor stipulates it will provide incident response within two hours of a severity level A incident.
Which of the following does this describe?

A. Maintenance agreement
B. Managed service agreement
C. Operating level agreement
D. Service level agreement

Answer: D

NEW QUESTION 10
Which of the following would BEST provide access to a Windows VDI?

A. RDP
B. VPN
C. SSH
D. HTTPS

Answer: A

NEW QUESTION 14
An organization plans to keep three of its cloud servers online for another nine months and a fourth server online for a year. The current pricing is $200 per month
per server. The cloud provider announced the sale price of $1,500 per year per reserved instance.
Which of the following represents the cost savings by converting all four of the cloud servers to reserved instances?

A. $900
B. $1,800
C. $2,400
D. $3,600

Answer: B

NEW QUESTION 15
A new company directive requires all departments to ensure intellectual property is kept within a country’s borders. Which of the following concepts BEST
represents this requirement?

A. Data portability
B. Data security
C. Data locality
D. Data sovereignty

Answer: D

NEW QUESTION 17
A startup company wants to use a CRM application to manage its sales and support organizations. The company does not have any IT staff. Which of the following
cloud computing models is MOST appropriate for this company to use?

A. CaaS
B. PaaS
C. IaaS
D. SaaS

Answer: D
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NEW QUESTION 21
When designing a new cloud-enabled application, an organization that is considering RTO and RPO is MOST likely concerned about:

A. redundancy.
B. load balancing.
C. disaster recovery.
D. high availability.

Answer: C

NEW QUESTION 24
......
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